@EEEIE. BKEBORREIZDOULNT

= LI/I_I = O L =1 —Jl=
R N ﬂlqﬁ%ﬁﬁ = @—@

=
=]
T
o

[1m ] 0.16uSv/h
[1cm] 0.21uSv/h

BRIEKE

g

[1m] O.45uSv/H |

[RERFFMN, e IETEEH]

[1cm] 0.44uSv/h

el
2\ DL%:

Lo,
. -

im

- 1

KRBT E 10292.9m 3“

5 HE T 8677.8m R

= Ri 1
)

=
s




EREMRARBEBKBI O IHASEREFRCEMNEM)

o = =
1S - BT S BRI

iZPEr: 37494434 BFE- 140988037

thaEErE  00:21:16
= 1893 count
fHEEE 99 2%

A

EEER
@ AUTO 100%
CAUTO 80%

0 0.01 100%

- 0.01 80%

@

TR EE 028 & Sv/h

A 568 wSv/h@1cm 237 HSv/h@1m
OB 5177 . mSv/h@1cm 2 05 1 Sv/h@1m
GF G 059 1 Sv/h@1cm 063 WS/ h@1m ‘ EE ‘ ‘ a7, ‘




